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1.91 When water at 70 °C flows through a converging section of
pipe, the pressure decreases in the direction of flow, Estimate the
minimum absolute pressure that can develop without causing cav-
itation. Express your answer in both BG and SI units.

Cavitation thay occur 1h The converging section of Pipe Lohen
The Pressure eguals The vapoy pressure. From Table B2 i Appendic B
for water at 70'(1, ’f:::- 31.2 AR (abs). Thus,

m.‘:m:fnum Pre'.ss:.rw :"31.2 'ﬁ-@ (45-5) /M sI tmr}'s.

Ln B& units i
3 - pst
-t (G 5 4 o )
(ninimum Pressare / Zx i) :)(/ 150X10 4

ottt
= 452 psia




